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QUESTION 1

A customer is implementing an access layer solution with four HP Comware switches in an Intelligent Resilient
Framework (IRF) virtual device or domain. The customer expects to add two additional switches of the same model and
would like to add them to the existing IRF virtual device. What must the customer verify? 

A. that the IRF virtual device has spanning tree enabled on it 

B. that the new switches are both assigned the same member ID as the master of the existing IRF virtual device 

C. that the IRF virtual device is using a daisy chain topology to provide better resilience 

D. that the switch model supports at least six switches in an IRF virtual device 

Correct Answer: A 

 

QUESTION 2

A network administrator enters this command on an HP ProVision switch with IP routing enabled: 

ip route 0.0.0.0/0 10.1.1.1 metric 10 distance 10 

This is the only IP route to 0.0.0.0/0 on the switch. What is the effect? 

A. The switch uses this route for all traffic that does not match a specific route in its routing table. 

B. The switch uses this route for all traffic unless the traffic matches a route with a lower administrative distance than
10. 

C. The switch uses this route to route all traffic from 10.1.1.1. 

D. The switch uses this route for all traffic unless the traffic matches a route with a lower cost than 10. 

Correct Answer: C 

 

QUESTION 3

Refer to the exhibit. 
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The topology shown in this exhibit implements Multiple Spanning Tree Protocol (MSTP), where all the switches are in
the same region. 

How many MSTP instances, besides the Internal Spanning Tree (IST) or instance 0, does this network need in order to
have effective load sharing on the uplinks from the access switches? 

A. two 

B. three 

C. four 

D. five 

Correct Answer: D 

 

QUESTION 4

Refer to the exhibit. 
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Which endpoint or endpoints receive broadcast ARP requests sent by EndpointA? 

A. EndpointB, EndpointC, and EndpointD 

B. EndpointB only 

C. EendpointB and EndpointC only 

D. EndpointC only 

Correct Answer: D 

 

QUESTION 5

On an HP Comware switch, which view must an administrator access in order to execute the debug command? 

A. Manager 

B. Operator 

C. System 

D. User 

Correct Answer: D 
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